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MATHS WORKSHEET %«' SATS

GEMERATOR

Sr: 23042018-247

11-PLUS
3.0
{-E}

GCSES

1) Round 11.05302800 to the nearest
whole number.

2) A number was shared in theratio
1:11. The smaller share was 39.
What was the larger amount?

3) A number was shared in theratio
14:8. The larger share was 14. What
was the smaller amount?

Answer: Answer: Answer:
4) 29x 100 5) Bx1%+(B8x9 6) Simplify 2:12

Answer: Answer: Answer:
7 424 + 89 8) Round 29.13686 to the nearest whole 9) Simplify 15:1

number.

Answer: Answer: Answer:
10) @xah+(BEx15 11) 85-71 12) Ax4Hx(2x 1%

Answer: Answer: Answer:

13)  Write2 x 103 asanormal number.

Answer:

14)  Simplify 9:8

Answer:

15) Write 2000000000 in standard form.

Answer:
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16) 14x74 17) Share 18 in theratio 2:16 18) Round 6.6648620 to the nearest
whole number.
Answer: Answer: Answer:
19) 9x 275 20) Find perimeter of 21) 38.9+80.4
square having each
s side(s) equals 35in
s
Answer: Answer: Answer:
22) Find perimeter of 23) Find area of square 24) Find perimeter of
triangle having each side (s) square having each
b ¢ a=98cm,b=99 s equals 22 ft s side (s) equals 92 ft
cm,
a ¢ =100cm s s
Answer: Answer: Answer:
25)  Write 7 x 103 as anormal number. 26) 21x10.8 27) 85+ 10
Answer: Answer: Answer:
28) 5-4 29) Write2x 10% as anormal number. 30) Share 27 intheratio 1:2
Answer: Answer: Answer:
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31) Find area of square 32) 252.73+127 33) Find perimeter of
having each side (s) sguare having each
s equals 79in s side (s) equals 60 m
S 5
Answer: Answer: Answer:
34) 81.9-66.4 35) 13+1 36) 96 - 92
Answer: Answer: Answer:
37)  Write6.1x 103 asanormal number. 38) Find area of 39) Write8x 10% asanormal number.
b rectangle having
sidesa =99 ft
a and b = 83 ft
Answer: Answer: Answer:
40) 14 x 1000
Answer:
Total: /40
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